Tema 12.5. Iloka3aTe/sibHbIE U JIOrapu(pMUIecKUe YPABHEHU S

a) Pemmith ypaBHEHUE
6) Haiitu Bce KOpHH, MIPHHAUICKALINE YKA3aHHOMY IIPOMEKYTKY

1. a) logs(2-x)=log,; x* 0) [loggé; log, 8}

1
2.2)9 2-8.3"'45=0 6) (1; %)

3. a) 1+log2(9x2+5)=logﬁ\/8x4+14 6)[—1; g}

4. 2)27"—5-9"-3"7+45=0 6) [log, 4; log,10]

5. 2)7-9" 456" 4847 =0 6)[-1; 2]

6. a)log, (x2 —5)-log§ (7-x)+3log, ()c2 —5)—2log§ (7-x)-6=0  6) [log2%; log, 9}

7. a)(x* +4x-2)(4 +87 " =11)=0 ) [-0.50,5]"

8. a)4"—2"7 415=0 6) [2; JE]
x+1 x+1 2x T .
9. 2)3-9" —5.6"" +8.2> =0 6)[—5;4

10. a)(x2+2x+1)(log2(x2—3)+log0,5(\/§—x))20 6) [2.5; 1]

OTtBeTHI:
1)a)-2; 1 6)-2
2) a)l; log,5 06) log,5
3) a) #+4/2; +0,5 6) +0,5
4) a) 1; log, 5 6) log,5
5) a) 6)
6) a) £3 6)3
1 1 1 1
7) a) —2++/6; S log.3 0 —2+4/6; - log3

8) a) log, 3; log, 5 6) log, 5
9) a) -2; —1 6) -1
10) a) —1—\/56) HeT



